
Monika’s Nursing Academy Hamirpur 
“Innovation is our Tradition” 

 

1 
Thakur Complex, Behind IDBI bank D.C. Office Chowk Hamirpur 

MOB.NO. 82190-33032 
 

AIIMS NAGPUR 
1. Hospital information system helps 

nurses to prevent prescription errors by 
:- 
A. Preventing side effects 
B. Avoiding transcribing orders 
C. Providing right dosage 
D. Providing right dilution 

2. ______the device sends the 
information about the direction or 
angle of the stick to the device or 
application it is controlling:- 
A. Canner 
B. Joystick 
C. VDU 
D. Mouse 

3. _____use diagnostic routines to test 
system for equipment failure :- 

A. Managing task 
B. Managing files 
C. Booting 
D. Formatting 
4. ________is the onscreen area where 

all the icons, windows and dialog 
boxes are displayed :- 
A. Drives 
B. Desktop 
C. Screen 
D. My computer 

5. Using_____button, you van move 
around the worksheet :- 
A. Start 
B. All of these 
C. Formatting 
D. Scroll 

6. Clinical and technological 
advancements in nursing by 
application of computer and 
information science is called :- 
A. Nursing informatics 
B. Nursing diagnosis 
C. Nursing procedure 
D. Nursing reference 

7. The tracks on the disk surface are 
divided into invisible segments are 
called as…..:- 
A. Surface 
B. Sector 
C. Segments 
D. None of these 

8. The data that is produced as a result of 
processing by the CPU is known as :- 
A. Scanning 
B. Output 
C. Input 
D. None of these 

9. The full form of CLI :- 
A. Command Line Inter space 
B. Command Line Inter face 
C. Common line interface 
D. Common line inter space 

10. One or more users simultaneously on 
two or more processors are known as :- 
A. Time sharing 
B. Multiprogramming 
C. Multitasking 
D. Multiprocessing 

11. Which is the first established in India ? 
A. State bank of India 
B. Bank of Hindustan 
C. Bank of Maharashtra 
D. Dena bank 

12. In India cotton is cultivated best in 
which type of soil ? 
A. Aluvial soil 
B. Laterite soil 
C. Red soil 
D. Regur soil 

13. Mission PACE of Avataran is for which 
of the following ? 
A. Rapid modernization of Railways 
B. Speed of trains 
C. Bullet trains 
D. Procurement 

14. Under whose Prime membership was 
the Nagar Bill Passed ? 
A. Rajiv Gandhi 
B. Indira Gandhi 
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C. Lal Bahadur Shastri 
D. VP Singh 

15. A prism produces how many colours 
when light is passed through it ? 
A. 10 
B. 7 
C. 3 
D. 8 

16. Sakshi  Malik, Rio Bronze Medalist is 
the brand ambassador of which of the 
following state’s Beti Bachao, Beti 
Padhao campaign ? 
A. Haryana 
B. Utter Pradesh 
C. Punjab 
D. Bihar 

17. The chief Election Commissioner of 
India is appointed by whom ? 
A. Prime Minister 
B. President of India 
C. Vice President of India 
D. Chief Justice of India 

18. What is the new title given to porter 
under the railway budget 2016 ? 
A. Sahayak mitra 
B. Sahayak 
C. Madat gaar 
D. Assistants 

19. What is the capital of the Telengana 
state ? 
A. Secunderabad 
B. Hyderabad 
C. Warangal 
D. None of these 

20. What term is used to define the total 
number of people of different age 
groups in a region ? 
A. Age composition 
B. Occupational structure 
C. Sex Ratio 
D. Adoelscent population 

21. Simran moved to her North-west 
direction for 2 kms. From there, she 
turned 90 degree clockwise and moved 
2 kms again. She turned 90 degree 

clockwise and travelled 2 kms. Now 
what is her direction from the original 
position ? 
A. Western region 
B. North East Region 
C. South East region 
D. South West region 

22. If a certain code “do la ka” means 
“what to do”. “ma ta do” means “ 
what is this” and “ta re ka”means “this 
will do”, then what is the code used for 
the word “do”? 
A. Ma 
B. Ka 
C. La 
D. Do 

23. If stands for +, M stands for -, N stands 
for x, P stands for ÷, then :- 
A. -54 
B. 55 
C. 51 
D. -51 

24. There are six persons –P,Q,R,T and U. R 
is the sister of U. Q is the brother of T’s 
husband. S is the father P and 
grandfather of U. There are 2 fathers, 3 
brothers and a mother in the group. 
Find out who is the mother in a given 
group ? 
A. Q 
B. P 
C. R 
D. T 

25. A,B,C,D,E and F are sitting in a row. E 
and F are in the center. A and B are at 
the extreme corners. C is to the left of 
A. Who is to the immediate right of B ? 
A. D 
B. B 
C. A 
D. C 

26. Cerebrum is related to brain in the 
same way as…..is related to Digestive 
system :- 
A. Neuron 
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B. Vertebrate 
C. Oesophagus 
D. Haemoglobin 

27. What will be the next term in the given 
series ? 
A. JL15 
B. HK15 
C. JM15 
D. KM15 

28. If : TO =4, TOO=9, TOOL =16, then 
TOOLSMITH shall be :- 
A. 5 
B. 81 
C. 9 
D. 25 

29. Diffuse, purulent inflammation of a 
tissue is called :- 
A. Abscess 
B. Cellulitis 
C. Boils 
D. Ulcers 

30. Central hearing loss results from 
damage to :- 
A. Brain auditory pathways 
B. Olfactory nerve 
C. Facial nerve 
D. Auditory nerve 

31. Abnormal protrusion or projection of 
an organ through a weakness in 
abdomen :- 
A. Adhesion 
B. Hernia 
C. Volvulus 
D. Intussusception 

32. Hospital acquired infection is called :- 
A. Communicable disease 
B. Wound infection 
C. Droplet infection 
D. Nosocomial infection 

33. This mineral is required for clotting of 
blood :- 
A. Calcium 
B. Magnesium 
C. Potassium 
D. Sodium 

34. Ketone bodies are synthesized from :- 
A. Acetyl CoA 
B. Cholesterol 
C. Phospholipids 
D. Triglycerides 

35. Inflammation of cornea is called :- 
A. Conjuctivitis 
B. Trachoma 
C. Keratitis 
D. Scleritis 

36. Inflammation of mouth is called :- 
A. Gingivitis 
B. Parotitis 
C. Stomatitis 
D. Periodonitis 

37. Devices used to aid immobilization of a 
patient is called :- 
A. Restraint 
B. Crutches 
C. Canes 
D. Pillows 

38. The value of  highest frequency in the 
data is :- 
a. Mode 
b. Mean 
c. Standard 
d. Median 

39. VED stands for :- 
A. Valuable, Essential, Desirable 
B. Valuable, estimated, Desirable 
C. Vital, Essential, Desirable 
D. Vital, Estimated, Desirable 

40. It is regarded as the powerhouse of the 
cell :- 
A. Lysosome 
B. Mitochondria 
C. Nucleus 
D. Golgi apparatus 

41. Deep vein thrombosis renders a person 
at a risk of :- 
A. Shock  
B. Pulmonary embolism 
C. Heart attack 
D. Stroke 

42. Warts are caused by :- 
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A. Protozoa 
B. Fungus 
C. Viruses 
D. Bacteria 

43. Disease of the inner ear characterized 
by recurring episodes of vertigo, 
tinnitus and deafness :- 

A. Syncope 
B. Meniere’s disease 
C. Glaucoma 
D. Hydrocephalus 
44. On the first day following 

laryngectomy the nurse top priority of 
care is :- 
A. Relieve anxiety 
B. Train for speech therapy 
C. Maintain communication 
D. Maintain patent airway 

45. Oxygen and carbon dioxide are 
exchanged in the placenta through the 
process of :- 
a. Facilitated transport 
b. Diffusion 
c. Active transport 
d. Pinocytosis 

46. Broca’s area ( speech) is present in 
which lobe of cerebrum :- 
a. Frontal lobe 
b. Parietal lobe 
c. Occipital lobe 
d. Temporal lobe 

47. Learning that is carried out in the 
affective domain is :- 
A. Passive learning 
B. Ideation Learning 
C. Skill learning 
D. Psychomotor learning 

48. Instrument used to measure the blood 
pressure is called :- 
A. Sphygmomanometer 
B. Pulse oximeter 
C. Thermometer 
D. Spirometer 

49. Severe dyspnea, orthopnea, pallor, 
tachycardia, frothy blood tinged 
sputum is seen in:- 
A. Pulmonary edema 
B. Left heart failure 
C. Congestive heart failure 
D. Right heart failure 

50. Ripening of cervix occurs during which 
stage of labor ? 
A. First 
B. Second 
C. Fourth 
D. Third 

51. Adaptive mechanism of giving excuses 
when a person cannot solve a problem 
:- 
A. Projection 
B. Substitution 
C. Rationalization 
D. Compensation 

52. Sunlight is the richest source of this 
vitamin :- 
A. B 
B. D 
C. A 
D. C 

53. The panchyati Raj agency at the block 
level is :- 
A. Gram Panchayat 
B. Block Panchayat 
C. Panchayat Samiti 
D. Zilla Parishad 

54. Immunization gives us which type of 
immunity ? 
A. Artificial passive 
B. Passive 
C. Natural 
D. Active 

55. Principles used in closed chest drainage 
:- 
A. Gravity, positive pressure, suction 
B. Gravity, Negative pressure, suction 
C. Ambulation 
D. Posture 
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56. Administration of feed through a tube 
:- 
A. Suction 
B. Gavage 
C. Enema 
D. Lavage 

57. Chronic alcohol abuse cause :- 
A. Cirrhosis of liver 
B. Cholestasis 
C. Fatty liver 
D. Hepatitis b 

58. Unit planning provides sound basis of :- 
A. Implementation 
B. Planning 
C. Replanning 
D. Evaluation 

59. Normal adult heart rate is :- 
A. 60-90 
B. 120-160 
C. 40-60 
D. 100-120 

60. Normal pulse oximeter reading is :- 
A. 90-94% 
B. 80-89% 
C. 95-99% 
D. 70-89% 

61. Break in the continuity of bone is :- 
A. Fracture 
B. Sprain 
C. Dislocation 
D. Subiuxation 

62. Vaccination against mumps can 
prevent :- 
A. Hydrocele 
B. Orchitis 
C. Vericocele 
D. Undescended testes 

63. Regulation of ph within the body is 
done by :- 
A. Spleen 
B. Liver 
C. Heart 
D. Kidney 

64. In medication administration, stat 
means :- 

A. Give immediately 
B. Give before meals 
C. Give after meals 
D. Give everybody 

65. When a fertilized ovum is implanted 
outside the uterine cavity ? 
A. Ovarian cyst 
B. Ectopic pregnancy 
C. Hydatidiform mole 
D. Abortion 

66. Myopia is corrected by :- 
A. Bifocal lens 
B. Biconvex lens 
C. Cylindrical lens 
D. Biconcave lens 

67. Written agreement between two 
people is called :- 
A. Law suit 
B. Contract 
C. Agreement 
D. Promise 

68. Questions that require the responders 
to make a choice between more than 
two responses :- 
A. Dichotomous question 
B. Contigency questions 
C. Multiple choice questions 
D. Rank order questions 

69. Brudzinski’s sign & kernig’s sign are 
diagnostic signs of :- 
A. Tetanus 
B. Meningitis 
C. Encephalitis 
D. Kernicterus 

70. Social stratification implies :- 
A. Social injustice 
B. Social equality 
C. Social inequality 
D. Social justice 

71. Involuntary passage of stool in an 
individual is called :- 
A. Fecal impaction 
B. Fecal incontinence 
C. Constipation 
D. Flatulence 
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72. Change in behavior resulting from 
practice :- 
A. Teaching 
B. Learning 
C. Sublimation 
D. Anxiety 

73. One form of graphic presentation for 
health education is :- 
A. Notice board 
B. Charts 
C. Poster 
D. Black board 

74. Increased levels of thyroid releasing 
hormone is secreted in :- 
A. Hyperthyroidism 
B. Thyroid cancer 
C. Tetany 
D. Hypothyroidism 

75. Disorder caused by lack of insulin :- 
A. Diabetes Insipidus 
B. Diabetes mellitus 
C. Goitre 
D. Hypercortism 

76. Hemopoiesis in adults take place in the 
:- 
A. Lungs 
B. Arteries 
C. Bone marrow 
D. Heart 

77. CPR and defibrillation should be 
intiated in which kind of arrhythmia ? 
A. Premature ventricular contraction 
B. Atrial fibrillation 
C. Ventricular fibrillation 
D. Atrioventricular block 

78. Prophylactic administration of vitamin 
A in children is :- 
A. Specific protection 
B. Rehabilitation 
C. Health promotion 
D. Early detection and treatment 

79. The information in the form of an idea, 
thought, attitude, feeling is :- 
A. Noise 
B. Channel 

C. Sender 
D. Message 

80. Epistaxis means :- 
A. Foreign body in the noise 
B. Nasal polyp 
C. Nasal fracture 
D. Nose bleed 

81. Organism causing gas gangrene is :- 
a. Clostridium Tetani 
b. Clostridium Perfringens 
c. Clostridium hystolyticum 
d. Clostridium Novyi 

82. Direct visualization of Gastrointestinal 
system by means of a lighted flexible 
tube :- 
A. Endoscopy 
B. Cystoscopy 
C. Bronchoscopy 
D. Hysteroscopy 

83. PAP Smear is used for the diagnosis of 
:- 
A. Ca cervix 
B. Ca Breast 
C. Ca Ovary 
D. Ca Bladder 

84. Lymphoma is a disease of :- 
A. Blood Vessels 
B. Liver 
C. Heart 
D. Immune system 

85. The following position is used to relieve 
dyspnoea in a patient :- 

A. Trendelenburg’s 
B. Supine 
C. Fowler’s 
D. Prone 
86. Which one is a narcotic drug ? 

A. Paracetamol 
B. Pantoprazole 
C. Codeine 
D. Emset 

87. Which of the heart disease is Cyanotic 
heart disease? 

A. Tetralogy of fallot 
B. Patient ductus arterisous 
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C. Atrial septal defect 
D. Ventricular septal defect 
88. Composition of blood transfused to 

hemophilia patient is :- 
A. Plasma 
B. Packed cells 
C. Cryoprecipitate 
D. Platelets 

89. An opening of surgical wound edges is 
called :- 
A. Wound Evisceration 
B. Wound Rupture 
C. Wound Approximation 
D. Wound Dehiscence 

90. One basic health worker ( 
multipurpose worker) for 10000 
population was recommended by :- 
A. Chadha Committee 
B. Mukherjee committee 
C. Bhore Committee 
D. Mudaliar Committee 

91. The casts system is a :- 
A. Religious Institution 
B. Political Institution 
C. Social institution 
D. Economic Institution 

92. Distension of renal pelvis caused by 
obstruction to normal urine flow :- 

A. Renal failure 
B. Renal calculi 
C. Hydronephrosis 
D. Polycystic kidney 

93. What care has to be taken by a patient 
after mastectomy ? 
A. Take BP on that hand 
B. Eating lots of diary products 
C. DO gardening 
D. Avoid strenuous activity 

94. Genes work in :- 
A. Traits 
B. Pairs 
C. Group 
D. Single 

95. Farmers lung is manifested due to :- 
A. Cotton fibres 
B. Pollen 
C. Lead particles 
D. Grain dust 

96. Physiological response to heat 
application is :- 
A. Vasoconstriction  
B. Vasodilation 
C. Shivering 
D. Local anaesthesia 

97. Which is the longest vein in the human 
body ? 
A. Great saphenous 
B. Popliteal 
C. Iliac 
D. Femoral 

98. Which is primary group ? 
A. Family 
B. Labourers 
C. Social Worker 
D. Student group 
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87.A 
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93.D 

94.B 

95.D 

96.B 

97.A 
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